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Q1. Generalized poker game:

A deck containing 4n (n > 5) cards has n cards each of four different suits, numbered, 1,2, ..

called the face value. In how many ways can five cards be chosen, so that they contain

[10 pt | five coneecutwe cards of the same suit?
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[ 5pt ] foul of the five cards with the same face value?
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[ 5 pt ] three cards with one face value and two cards with some other value?
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[ 5 pt | five cards of the same suit?
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[10 pt ] five successwely numbered calds‘?
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| 5 pt | three of t{l\m five cards with the same face value?
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[10 pt | not more than two cards of the same suit?
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Q2. Let a roll of three distinct dice produce a sum of n. X\ FXY X& =4

[ 5 pt ] Find bounds (lower, upper) on n. X = L€
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[10 pt } Construct the generating function.
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[25 pt | Find the probabilities for n=5 and for 1}l 11.
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a recwrrence relation for the number of regions into which the plane is divided by n
straight lines if every pair of lines intersect, but no three lines meet at a common point. Solve
for a,. Weok s
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Q3. Find
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Solve the shortest path problems from node a using the modified BFS method.
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Q5. (a) Does there exist a Eulerian circuit? Why? If so, find the Eulerian tour.
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{(b) Does there exist a Eulerian path? Why? If so, find the Euléllan pa“th

) { Lb i E
%ﬂ Hot e ok ' two ales urih e e jg @

\




